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Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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Attempt All questions. All questions Ca; .y equal marks.
| Use of simple calculator is allowed.
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1. Write notes on the following : : 7.547.5,

() Significance of Statistical Methods in Geography

()  Systematic sampling.

frefafem w et fafey -

(%) qie § wifersw fafd &1 A

(@) FHeg Wlawd 1 o

P.T.O.



(a)  Stratified sampling

(b)  Concept of nbrma] cur.2.
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Rainfall data in cm of two stations, A and B is recorded below :
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At which station, the vai:ation in rainfall is greater ?
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(@)  Onthe basis of the following data, calculate mean centre of population for six settlements

ﬁwﬁf@aa‘m—é%aﬂwu{@:ﬁm%mﬁmwﬁm
sy iR me By W wefia wfe | |

of a district and plot the mean centre : | 542.5
|
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Locational Coordin?ites : | | 'v ‘
| Settlements_ | ' . | " Population
X Y
, ,
A 26 48 45
B | T ;3.2 | 28 820
C 42 . 36 - 590
D : 2.49 ' - 08 - 785
‘ E ‘0.9 | 17 : 650
F | 46 s 1 a0
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(b)  On the basis of given distance-matrix and population, suggest an ideal location for

a dispensary. 7.5
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Distance in km

T ferh, &
Settlements | . Population
fErarg | G
A|B| C D| E F |
A 485
B .8 | 780 ».
C 5 4 880 ;
D 4 1 61| 7 530 ."
E 51 3] 2 3 475
F 6 {6 7] 51 2 1 835

The temperature in °C recorded at a station is given below for 60 days
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38 1 37 | 28| 26 | 25 241 23 | 24 | 28 | 30

34 | 36 | 38} 36| 34 331 33| 34| 32]31
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(a)
(b)
©
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Plot both Ogive curves.
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Construct a frequency distribution table with a class interval of 5.

- For how many days the temperature was above 32°C.

For how many days the temperature was below 38°C.
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The following table gives the size of landholdmgs of famlhes n a village. Find the median

and modal size of landholdings :

- 1.5+7.5
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Landholdings in Acres
qff Sl IR T A

510
10—15
©15—20
2025
2530

30—35

No. of Families
oftar ® W
20
35
150
=70
44

38

P.TO.



( 6) | 3126
The distribution of rainfall of 400 stations in a state was found to be normally distributed
with a mean of 25 cm and standard deviation of 2.5 cm. Find : 5,5,5
(@) Number of stations receiving rainfall between 26 cm to 30.5 cm
(b)) Number of stations receiving rainfall between 22.5 ¢m to 28 cm’

(¢) Number of stations receiving rainfall less than 21 cm.
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Fit a normal curve to the fo‘l]bwing data whose mean is 43.2 mm and standa_rd deviation

is 14.79 mm : 15
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Raiﬁfall in mm No. of Days
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10;—20 ' 12
20—30 28
040 40
40—50 60
50—60 - 32
60—70 ‘ 20
70—80 8




5.

Calculate product moment correlation coefficient for the following data
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65
68
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15

On the basis of given data on amount of rainfall and runoff calculate the regrcssmn equation

of Y on X. What i is the estimated runoff if rainfall is 52 cm ?
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Rainfall in cm

aut ol d

X
46
63
49
60
51
58
56
57

65

62
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Runoff in cm
W dgE qdt o

Y

32

4
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STANDARD STATISTICAL TABLES

L. Areas under the Normal Distribut'ion

The table gives the amulative probabxht;
up to the standarmsed norsal value T
i.e.
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0.5000 0.5040 0.5080 0.5120 0.515%% 0.5199
0.5398  0.5438  (.5478  0.5517 0.5557 0.55%
0.5793  0.5832  0.5871  0.5910 0.5948 (.5987
0.6179  0.6217 0.6255 0.6293 - 0.6331 0.6368
0.655¢ 0.6591 0.6628 0.6664 0.6700 0.6736

v 6 e e .
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0.6915  0.6950 0.6985 0.7019 0.705 0.7088
07257 0.7291  0.7324  0.7357  G.7389 0.4
G.7586  0.7611 0.7642 0.7673  0.7704 0.7734

- . * -
P .
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0.8159  0.3186 0.8212 0.8238 0.3264  0.8289

0.8413  0.8433  0.8461 0.8485 0.8508 0.8531
0.8643 0.3665 0.8686 0.8708 0.8729  0.8749

0.9032  0.3049 0.9066 0.9082 0.5099 0.911%
0.9192  0.9207 0.9222 ~-0.9236 0.9251 0.9265

. v .
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0.9332  0.9345 0.9357 0.93%0 0.9382 0
0.9452  0.9463 0.9474 0.9184 0.9495 o0
0,354 0.9564 0.9573 0.9582 0.9591 O.
0.9641  0.964% 0.9656 0.9664 0.%71 0
0.5713  0.9719  0.9726  0.9732 0.9M8 ¢
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0.9773  0.9778  0.97%3 0.9788_ 0.9793  0.979%
0.5821 0.9826 0.9830 0.9834 0.9838. 0.9842
0.9861 - 0.9865 - 0.9368 0.9871 0.9874 0.9878
0.9893  0.9696 0.9898  0.9%01 0.9904  0.9906
0.9918  0.9920  0.9922  0.3924  0.9927  0.9929
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0.9938  0.9940  0.9941  0.9943  0.9%5  0.9946
0.9953  0.9955 0.9956 0.9557 0.9950  0.9960
0.9965  6.9966 0,9967 0.598 0.9969 0.997%0
0.9974  0.9975 - 0.9976 . 0.9877 - 0.9977 (.997%
0.9981 0.9982 0.9982 0.9983 0.398¢ 0,998
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00 30 3.20 3.30 3.40 3.50
6 0.2990  0.9993 . 0.9935  0.9997  {.%99%

1 000 0.0 002 0.03 . 0.04  0.05

(0.7881 - 0.7910  0.7939  0.7%€7 0.79%5 . 0.3023 0.

0.8349  0.8369 - 0.8888 0.8907 0.8925 0.8944 0.

0.9686
0.9750

C"'<3
0.9¢46
0.9881
0.9%09

0.9931

0.9948
0.9961
0.9971
0.9479
0.9985

N
0.999%

0.9808

0.9850
0.9884
0.9311
¢.9932

0.9943
0.9962
0.9972
0.9980
0.9985

- 3.0

0.9999

0.08

0.5319
0.5714
0.6103
0.6480

- 0.684¢

0.7190
0.7517
0.7823
0.8106
0.8365

0,8599
0.8804

©0.8997

0.9162
0.9306

0.9429

- 0.9535

0.9625

- 0.9699
0.9761

0.9812 .

0.9854

0.3887

0.9913
0.9934

0.9951

0.9963

0.9973
0.9980
0.94986

3.80
0.9999

0.09

0.5359
0.5753
0.6141
0.6517
0.6879

0.7224
0.7549
0.7854

0.8133

0.8389

6.8621
0.8830
0:9015
0.9177
0.9319

0.9441
0.9545
0.9633
0.9706"
0.9767

0.9817
(.9457
0.98%0
0.9%16
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0.9852
0.9964
0.9974
0.9981
8.9498¢




